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Q.51 . ) ) ) . .
Arrange the following banks in an increasing order of their year of formation-

A. State Bank of India

B. Imperial Bank of India
C. Reserve Bank of India
D. Regional Rural Banks

E. Small Finance Bank

Choose the correct answer from the options given below:
1.B,. DG, B A

2.E.D,A B, C

3.B.C,A.D.E
4.C.B.A,D.E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315861
Option 1 ID : 34212361793
Option 2 ID : 34212361794
Option 3 ID : 34212361795
Option 4 ID : 34212361796
Status : Answered
Chosen Option : 3

Q.52
Which one of the following is NOT a marketing principle ?

1. Focus on the customer
2. Markets are homogeneous
3. Customers do not buy products

4. Marketing is too important to leave to the marketing department

Options 1. 1
2.2
3.3
4.4

Option 4 ID

Status :

Question Type : MCQ
Question ID : 34212315843
Option 1 ID : 34212361721

Option 2 ID :
Option 3D :

34212361722
34212361723

. 34212361724

Answered

Chosen Option : 3




Q.53

Arrange the following steps of Activity Based Costing (ABC) in proper sequence -

A. Staff Training and Review Follow up

B. Identify Main Activities

C. Process specification

D. Identify Non-value adding Activity and cost pools

E. Selection of Activity Cost Drivers and Tracing of Costs with objects

Choose the correct answer from the options given below:
1.C, B, D, E,A
2.B,C,D,E, A
3.D.B,.C.AE
4.E.D.B,C.A

Options 1. 1
2.2
3.3
4.4

Question Type :

MCQ

Question ID : 34212315854
Option 1 ID : 34212361765

Option 2 ID :
Option 31D :
Option 4 ID :

Status :

34212361766
34212361767
34212361768
Answered

Chosen Option : 4




Q54 . . -, L .
Which of the following antecedent conditions explain intergroup conflict?

A. Personal differences

B. Competition for resources
C. Role incompatibility

D. Task independence

E. Jurisdictional ambiguity

Choose the correct answer from the options given below:
1.A.B & C Only
2.A.B,D & E only
3.A,C & D Only

4.B.D & E Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315878
Option 1 ID : 34212361861

Option 2 ID : 34212361862
Option 3 ID : 34212361863
Option 4 ID : 34212361864
Status : Answered
Chosen Option : 3




Q.55

Arrange the following sequentially with respect to operating cycle of a manufacturing firm -

A. Payables Deferral Period

B. Finished Goods Conversion Period
C. Raw Material Conversion Period

D. Receivables Conversion Period

E. Work-in-progress Conversion Period

Choose the correct answer from the options given below:
1.A,D,C.E.B
2CE, B, DA
3.B,D,AE,C
4.D,B.EAC

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315857
Option 1 ID : 34212361777

Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option : 2

34212361778
34212361779
34212361780
Answered

.56 . . .
Q The price of a company's share is T80 and the value of growth opportunities is 220. If the

company's capitalisation rate is 15%., how much is the EPS?

1.320
2.%12
3.3

4.39

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315825
Option 1 ID : 34212361649

Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option : 2

34212361650
34212361651
34212361652
Answered




Q.57 Which one of the following is NOT true about the relationship between Average Cost (AC) and

Marginal Cost (MC)?
1. When MC is falling, the rate of fall in MC is greater than that of AC

2. When MC increases, AC also increase but at a lower rate. However, there is a range of
output where MC begins to increase while AC continue to decrease

3. When AC is constant, AC<MC

4. MC curve intersects AC curve at its minimum

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315824
Option 1 ID : 34212361645
Option 2 ID : 34212361646
Option 3 ID : 34212361647
Option 4 ID : 34212361648
Status : Answered
Chosen Option : 3
Q.58

Which of the following condition is NOT required to be satisfied by an individual for the purpose
of claiming unilateral relief under section 91(1) of the Income-tax Act, 1961, in a previous year?

1. He must be resident in India in that previous year
2. His total income exceeds ¥10.00.000 during that previous year

3. He has earned an income during that previous year from another country and that income
has accrued or arose outside India

4. He has paid income-tax in that country on the income earned in that country and no Double
Taxation Avoidance Agreement (DTAA) exists between India and that country

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315852
Option 1 ID : 34212361757

Option 2 ID : 34212361758
Option 3 ID : 34212361759
Option 4 ID : 34212361760
Status : Answered
Chosen Option : 4




.59
Q Under section 206C of the Income-tax Act, 1961, a seller is supposed to collect income tax from

the buyer in respect of sale of the following goods:

A. Motor Vehicle of the value between 27,00,000 - £9.00,000

B. Alcoholic liquor for human consumption

C. Electronic items of the value between 210.00.000 - 215,00.000
D. Timber obtained under a forest lease

E. Minerals, being coal or lignite or iron ore

Choose the correct answer from the options given below:
1.A,C & E Only
2.B.D & E Only
3. A& COnly

4.B & E Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315887
Option 1 ID : 34212361897

Option 2 ID : 34212361898
Option 3 ID : 34212361899
Option 4 ID : 34212361900
Status : Answered
Chosen Option : 1




Q.60

Match the List-l with List-ll

LISTI

Classification of goods as per the

Sales of Goods Act, 1932

LISTII
Their Definition

Specific Goods

The goods which are to be manufactured or
produced or acquired by the seller after making the
contract of sale

Ascertained Goods

The goods, which are not identified and agreed upon
at the time of formation of contract of sale

C.

Unascertained Goods

The goods, which are identified and agreed upon
subsequent to the formation of contract of sale

D.

Future Goods

The goods, which are identified and agreed upon at
the time of making the contract of sale

Choose the correct answer from the options given below:

1. A-IV, B-III, C-II, D-I

2. A-I B-II, C-III, D-IV

3. A-IV, B-IL, C-IIL, D-I

4. A-1, B-III, C-II, D-IV

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315901
Option 1 ID : 34212361953

Option 2 ID :
Option 31D :
Option 4 ID :

Status :

34212361954
34212361955
34212361956
Answered

Chosen Option : 4




Q61
Import of service means:

A. The Supplier of service is located in India

B. The Supplier of service is located outside India
C. The Recipient of service is located in India

D. The Recipient of service is located outside India
E. The place of Supply of service is in India

Choose the correct answer from the options given below:

1.A,B & E Ouly
2. A,D & E Oaly
3.B.D & E Only

4.B,C & E Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315885
Option 1 ID : 34212361889

Option 2 ID : 34212361890
Option 3 ID : 34212361891
Option 4 ID : 34212361892
Status : Answered
Chosen Option : 4




62 . . . . .
Q Which of the following factors constitute the Economic Environment of a country?

A. Financial System
B. Socio-cultural environment
C. Economic Policies

D. Educational environment
E. Structural Equilibrium

Choose the correct answer from the options given below:
1.A,B & Conly
2.A,C&Eonly
3.B,D & E only

4.C.D & E only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315868
Option 1 ID : 34212361821
Option 2 ID : 34212361822
Option 3 ID : 34212361823
Option 4 ID : 34212361824
Status : Answered
Chosen Option : 2
Q.63

Where there is an unconditional contract for the sale of specific goods in a deliverable state, the
property (ownership) in goods passes to the buyer when

1. the contract is made
2. the payment is made
3. the goods are delivered

4. the goods are dispatched

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315845
Option 1 ID : 34212361729

Option 2 ID : 34212361730
Option 3 ID : 34212361731
Option 4 ID : 34212361732
Status : Answered
Chosen Option : 2




.64
Q What is the correct sequence to be followed for the following while computing income under the

head Capital Gains?

A. Deduction of indexed cost of acquisition

B. Determination of full value of consideration

C. Determination whether the asset is a capital asset or not

D. Determination whether the transaction is regarded as transfer or not

E. Exemption under section S4EC in respect of investment in the long-term specified asset

Choose the correct answer from the options given below:
1.B,A,C,E.D
2.E,A,D,C,B
3.D;B;C,;AE

4.C,D,B.A.E

Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315866
Option 1 ID : 34212361813

Option 2 ID : 34212361814
Option 3 ID : 34212361815
Option 4 1D : 34212361816
Status : Answered
Chosen Option : 4




Q65
Which of the following are cases of Funds Flow?

A. Payment of trade creditors by sale of Land

B. Cash collection from debtors

C. Purchase of Furniture by issue of bills payable
D. Payment of long term loan by cash

E. Payment of bills payable by cash

Choose the correct answer from the options given below:

1.A.D & E only
2.B,C & D only

3.A.C&Donly

4.B & E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315870
Option 1 ID : 34212361829
Option 2 ID : 34212361830
Option 3 ID : 34212361831
Option 4 ID : 34212361832
Status : Answered
Chosen Option : 2
Q.66

Which one of the following is NOT good for bargainers while bargaining with employees?
1. Do not hurry
2. Build a reputation for being fair but not firm
3. Strive to keep some flexibility in your position
4. Respect the importance of face saving for the other party

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315834
Option 1 ID : 34212361685

Option 2 ID : 34212361686
Option 3 ID : 34212361687
Option 4 ID : 34212361688
Status : Answered
Chosen Option : 3




Q67 Which of the following are the instruments of qualitative Credit Control Methods in India's

Monetary Policy?

A. Cash Reserve Ratio

B. Consumer Credit Regulation

C. Altering Margin Requirements
D. Statutory Liquidity Ratio

E. Differential Rate of Interest

Choose the correct answer from the options given below:

1.A,B & Donly

2.B,C & E only

3.C.D & E only

4.D.E & Aonly

Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315869
Option 1 ID : 34212361825
Option 2 ID : 34212361826
Option 3 ID : 34212361827
Option 4 ID : 34212361828
Status : Answered
Chosen Option : 3
Q.68

A statistical statement in International business that shows at a point the value of financial assets
of residents of an economy that are claims on non-residents or are gold bullion held as reserve
assets and the liabilities of residents of an economy to non-residents is known as

1. Currency Composition Table

2. Special Purpose Entities (SPEs)

3. Cross Border Flows

4. The Internation Investment Position (IIP)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315816
Option 1 ID : 34212361613

Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option : 4

34212361614
34212361615
34212361616
Answered




Q69 Which one of the following theory of capital structure discusses Arbitrage Process?

1. Traditional Approach
2. Modigliani and Miller (MM) Approach
3. Net Operating Income (NOI) Approach

4. Net Income (NI) Approach

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315828
Option 1 ID : 34212361661
Option 2 ID : 34212361662
Option 3 ID : 34212361663
Option 4 ID : 34212361664
Status : Answered
Chosen Option : 1
Q.70

Which one of the following refers to the need on the part of the customer that gets satisfied by the
service?

1. Service Benefits

2. Service Expectations
3. Service Offer

4. Service Level

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315841
Option 1 ID : 34212361713

Option 2 ID : 34212361714
Option 3 ID : 34212361715
Option 4 ID : 34212361716
Status : Answered
Chosen Option : 2




Q7L Fortest hypothesis Hy: g < pp and Hy : g > po, the critical region (Z) at «¢ = 0.10 and n > 30

will be
1.Z< 1.96
2.Z2>1.96

3.Z2>1.645

4.Z<-1.645
Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315832
Option 1 ID : 34212361677

Option 2 ID :
Option 3ID :
Option 4 ID :
Status :

Chosen Option : 2

34212361678
34212361679
34212361680
Answered

72 . . .
Q What is the correct sequence to be followed for the following transactions undertaken by an

individual while computing his gross total income as per the Income-tax Act, 1961?

A. Investment in own public provident fund

B. Investment in one residential house in India for exemption from capital gains
C. Interest on capital borrowed for purchasing a self-occupied house property
D. Tax on employment

E. Payment of Medical insurance premium on his own life

Choose the correct answer from the options given below:
1.C,B.D,E.A
2.D,;C,B;AE
3. E;AD;B, C

4.B,C,E,A,.D

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315867
Option 1 ID : 34212361817

Option 2 ID :
Option 3D :
Option 4 ID :

Status :

34212361818
34212361819
34212361820
Answered

Chosen Option : 2




Q73 x1td. incurred a capital expenditure of Z5.00,000 for the purpose of promoting family planning

amongst its employees during the assessment year 2024-25. How much deduction in respect of
such expenditure can be claimed by X Ltd. during the assessment year 2024-25, while computing
income under the head Profits and Gains of Business or Profession?

1. ¥5.00.000
2. 32,50,000
3.%1,00,000
4. %50.,000

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315851
Option 1 ID : 34212361753

Option 2 ID : 34212361754
Option 3 ID : 34212361755
Option 4 ID : 34212361756
Status : Answered
Chosen Option : 4

Q4 Which among the following is the correct value of Income Elasticity of Petrol consumption from

the following information?

The Government announces a 10 per cent dearness allowance to its employees. As a result,
average monthly salary of Government employees increases from 220,000 to % 22.000. Following
the pay hike, monthly petrol consumption of government employees increased from 150 litres per
month to 165 litres per month:

1038
N |
32
4.0.1

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315822
Option 1 ID : 34212361637

Option 2 ID : 34212361638
Option 3 ID : 34212361639
Option 4 ID : 34212361640
Status : Answered
Chosen Option : 4




Q75 If two regression lines are : 8x-10y+66=0 and 40x-18y=214, then X & ¥ are respectively

1. 13,14
2.16, 15
3.14,13
4.13,17
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315829
Option 1 ID : 34212361665
Option 2 ID : 34212361666
Option 3 ID : 34212361667
Option 4 ID : 34212361668
Status : Answered
Chosen Option : 2
Q.76

Which of the following item is included in the definition of the term “Goods™ as per Sales of
Goods Act, 1930?

1. Purchase of lottery tickets
2. The decree of Court of Law
3. Actionable claims

4. Immovable Property

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315847
Option 1 ID : 34212361737

Option 2 ID : 34212361738
Option 3 ID : 34212361739
Option 4 ID : 34212361740
Status : Answered
Chosen Option : 4




Q.77

Match the List-l with List-ll

LISTI
Theories of LISTI
International Outline of Theory
Investment
Eclectic Theory 1 FDI occurs largely in oligopolistic industries rather than in

industries operating under near perfect competition

Appropriability
Theory

Capital as an investment will move from countries where it is
abundant to countries where it is scarce because the returns on
investment opportunities are higher where capital is limited

Market
Imperfection
Theory

The firm should be able to keep the benefits resulting from its
innovation & Research for its exclusive use

Theory of Capital
Movements

The framework follows three tiers-ownership, location and
internalization, assuming that companies are not likely to follow
through the FDI, if they can get the service or product internally
and at lower costs

Choose the correct answer from the options given below:

1.A-1IV, B-1, C-1II, D-II

2.A-1, B-1II, C-1II, D-IV

3.A-TIII, B-1V, C-1I, D-I

4. A-1V, B-III, C-1,D-II

Which one of the following is not a basic property of Indifference curve?

Options 1. 1

2.2
3.3
4.4

1. Indifference curve slope downwards to right

3. Indifference curve either intersect or are tangent to one another

4. Upper indifference curves indicate a higher level of satisfaction

2. Indifference curve of imperfect substitutes are convex to the origin

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315888
Option 1 ID : 34212361901
Option 2 ID : 34212361902
Option 3 ID : 34212361903
Option 4 ID : 34212361904
Status : Answered
Chosen Option : 4
Q.78

Question Type : MCQ
Question ID : 34212315821
Option 1 ID : 34212361633

Option 2 ID :
Option 3D :
Option 4 ID :

Status :

34212361634
34212361635
34212361636
Answered

Chosen Option : 3




Q.79

Match the List-l with List-ll

LISTI
Pricing Strategies

LISTII

Their Explanation

Skimming Price Policy

Where the nature of the products are non-storable

Penetration Price Policy

Where close substitutes of a new product are not available

ofm| >

Peak Load Pricing Policy

Exporting goods at a price lower than the domestic price

D. | Dumping Pricing Policy

Substitutes of new products are available

Choose the correct answer from the options given below:

1. A-IIL, B-II. C- I, D-IV
2. A-1V, B-IIL C-IL, D-1
3.A-1 B-1II, C-II, D-IV

4. A-1I, B-IV, C-1, D-III

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315892
Option 1 ID : 34212361917
Option 2 ID : 34212361918
Option 3 ID : 34212361919
Option 4 ID : 34212361920
Status : Answered
Chosen Option : 4
Q.80 . . L . . .
In international trade, factoring is widely used in short-term transactions as a continuous
arrangement. Arrange the steps of export factoring operations in sequence -
A. The export factor transfers the invoice to the import factor, who, in return, assumes credit
risk and undertakes administration of receivable.
B. The export factor pays cash in advance to the exporter against receivables until the payment
is received from the importer.
C. The importer and exporter enter into a sales contract and agree on the terms of sale.
D. The import factor presents invoice to importer, take payment and pays to the export factor.
E. The exporter ships the goods to the importer and submits the invoice to the export factor.
Choose the correct answer from the options given below:
1:B;A, B, D;:C
2.E,B,A,D,C
3G, BB, DA
4.C.E.B.A.D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315853
Option 1 ID : 34212361761
Option 2 ID : 34212361762
Option 3 ID : 34212361763
Option 4 ID : 34212361764
Status : Answered
Chosen Option : 3




Q8L For the purpose of taking Capital Budgeting Decisions in respect of a company in India,

following are taken into consideration in computing cash flows in the terminal year of the project:

A. Tax loss on short-term capital gains
B. Tax loss on short-term capital loss

C. Release of net working capital

D. Tax saving on short-term capital loss
E. Tax saving on short-term capital gains

Choose the correct answer from the options given below:
1.A,C & Donly
2.B,C & E only
3.C & Eonly

4.B & E only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315874
Option 1 ID : 34212361845

Option 2 ID : 34212361846
Option 3 ID : 34212361847
Option 4 ID : 34212361848
Status : Answered
Chosen Option : 3
Q.82 . . e .
Arrange the given component tasks to be handled in positioning in the logical sequence -
A. Developing the value proposition
B. Analysing competitors' positioning: Is there a gap somewhere?
C. Communicating the value proposition to target consumers
D. Deciding the locus in consumers' mind: Where to lodge the product/brand?
E. Ensuring the infrastructure/competitive advantage for delivering the premise
Choose the correct answer from the options given below:
1.D.B.AE.C
2D B EA €
3.B,D.AE.C
4.B.D,C,A.E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315864

Option 1 ID : 34212361805
Option 2 ID :
Option 3D :
Option 4 ID :

Status :
Chosen Option :

34212361806
34212361807
34212361808
Answered

4




Q83 4 person applies for a loan of ¥1.00.000. The bank informed him that over the years, it had

received 2920 loan applications per year and the probability of approval was, on an average 0.85.
The applicant wants to know the average number of loans approved per year by the bank. What
can be that number?

1. 1920
2.3250
3.1000
4. 2482

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315830
Option 1 ID : 34212361669

Option 2 ID : 34212361670
Option 3 ID : 34212361671
Option 4 ID : 34212361672
Status : Answered
Chosen Option : 4

Q84 RBI permitted the issue of commercial papers within the framework of its guidelines. Which one

of the following committee recommended these guidelines?
1. Verma Committee
2. Padmnabhan Committee
3. Kalia Committee

4. Vaghul Committee

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315839
Option 1 ID : 34212361705

Option 2 ID : 34212361706
Option 3 ID : 34212361707
Option 4 ID : 34212361708
Status : Answered
Chosen Option : 2




Q.85 Which one of the following sources of power of the supervisor is NOT true for the subordinates

to comply?
1. Reward
2. Coercive
3. Expert

4. Means-ends-control

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315833
Option 1 ID : 34212361681
Option 2 ID : 34212361682
Option 3 ID : 34212361683
Option 4 ID : 34212361684
Status : Answered
Chosen Option : 4
Q.86 . o -
Which one of the following is standard deviation of first 7 (1 to 7) natural numbers?
1.4
2:3
3.2
4.6
Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315831
Option 1 ID : 34212361673

Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option : 2

34212361674
34212361675
34212361676
Answered




Q87 Arrange the following steps of decision making process in application of Economics in Business

decision making from starting to end -

A. Selection and Implementation of the Decision
B. Inventing, developing possible Course of Action
C. Collection and Analysis of Relevant Data

D. Identifying Business Related Issues

E. Determining and defining objective

Choose the correct answer from the options given below:
1.D,C,E.B.A
2.C,D,B,E,A
3.B.C.D.E.A
4.E,D,C,B,A
Options 1.1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 34212315856
Option 1 ID : 34212361773

Option 2 ID :
Option 31D :
Option 4 ID :

Status :

34212361774
34212361775
34212361776
Answered

Chosen Option : 4

Q.88

Arrange the following Financial Institution in the increasing order of their date of establishment-

A.NABARD
B. EXIM Bank
C.UTI

D. SIDBI

E. ECGC

Choose the correct answer from the options given below:
LA BiC.DiE
2.C,B,A,D.E
3.C,A.B.E,D
4.E,C,B,A,D

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315862
Option 1 ID : 34212361797

Option 2 ID :
Option 3D :
Option 4 ID :

Status :

34212361798
34212361799
34212361800
Answered

Chosen Option : 2




Q.89

Which of the following methods have been prescribed by the Central Board of Direct Taxes
(CBDT) for computation of Arm's Length Price required to compute income arising from an

International transaction under Chapter X of the Income-tax Act, 1961?

A. Transactional Net Margin Method

B. Uncomparable Controlled Price Method
C. Profit Split Method

D. Resale Price Method

E. Cost Minus Method

Choose the correct answer from the options given below:

1.B,D & E Only
2.A.B & D Only
3.C,D & E Only
4. A, C & D Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315886
Option 1 ID : 34212361893

Option 2 ID :
Option 31D :
Option 4 1D :

Status :

34212361894
34212361895
34212361896
Answered

Chosen Option : 2




Q.90

Which of the following are true about the equilibrium of the Industry in long run under perfect

competition?

A. The long-run supply and demand for the product of the industry should be in equilibrium
B. All firms in the industry should be in long run equilibrium by equating price with long-run

marginal cost (P=LMC)

C. There should be tendency for the new firms to enter the industry, or for the existing firms to

leave it

D. The firms are earning zero economic profits with price being equal to long-run minimum

average cost (P=min. LAC)

E. The firms would not have adjusted their size of plants when there is long-run equilibrium

(P=LMC)
Choose the correct answer from the options given below:

1.A,B & Conly
2.C,D & E only
3.A.B & Donly

4.B,C & D only

Options 1.1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315872
Option 1 ID : 34212361837

Option 2 ID :
Option 31D :
Option 4 ID :

Status :

34212361838
34212361839
34212361840
Answered

Chosen Option : 3




Q.91

Arrange the following content theories of work motivation in the increasing order of their
development -

A. Herzberg-motivation and hygiene factors
B. Alderfer ERG Needs

C. Maslow-Hierarchy of Needs

D. Scientific Management

E. Human Relations

Choose the correct answer from the options given below:

1.D,C,E.A,B
2.D,E,C,A,B
3. B; €A BDLE
4.D.E,A.C,B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315860
Option 1 ID : 34212361789
Option 2 ID : 34212361790
Option 3 ID : 34212361791
Option 4 ID : 34212361792
Status : Answered
Chosen Option : 4
Q.92

A company forfeits 100 shares of 210 each on which ¥ 300 had been received. 60 shares are
reissued at 9 per share. Which one of the following amount is to be transferred to Capital
Reserve Account?

1.%200
2.%180
3.%120

4. 360
Options 1. 1
2.2
3.3
4.4

Status

Question Type : MCQ
Question ID : 34212315819
Option 1 ID : 34212361625

Option 2 ID :
Option 3D :
Option 4 ID :

34212361626
34212361627
34212361628

: Answered
Chosen Option : 4




Q.93 Arrange the following theories of Profit in order of time when these were propounded from oldest

to latest -

A. Hawley's Risk Theory of profit

B. Walker's Theory of Profit: Profit as Rent of Ability
C. Clerk's Dynamic Theory of Profit

D. Schumpeter's Innovation Theory of Profit

E. Knight's Theory of Profit

Choose the correct answer from the options given below:
1.A,C,D,B,E
2.B,C,A,D,E
3.E,B.C.D.A
4.B,C,AE,D

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315855
Option 1 ID : 34212361769

Option 2 ID :
Option 3ID :
Option 4 ID :

Status :

34212361770
34212361771
34212361772
Answered

Chosen Option : 2

.94
Q WTO in its 8% Ministerial conference adopted a decision allowing members to waive the

provisions of Article IT (most favored-National Treatment) of the GATS to allow the granting of
preferential treatment to services and service supplies to which countries?

1. Adjacent Countries

2. Non-Nuclear Countries

3. Least-Developed Countries
4. SAARC Countries

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315814
Option 1 ID : 34212361605

Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option : 4

34212361606
34212361607
34212361608
Answered




Q.95 Which one of the following non-functional rewards does NOT fall under job design category?

1. Compliment of work progress
2. Flexible hours
3. Participation in decisions

4. Flexible breaks

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315836
Option 1 ID : 34212361693
Option 2 ID : 34212361694
Option 3 ID : 34212361695
Option 4 1D : 34212361696
Status : Answered
Chosen Option : 3
Q.96 . . . . .
Which of the following are primary functions of Commercial Banks?
A. Accepting Deposits
B. Agency Service
C. Discounting Trade Bills
D. Financing Foreign Trade
E. General Utility Service
Choose the correct answer from the options given below:
1.A,.C & E only
2.A,B&Donly
3.B.C & E only
4.A.C&Donly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315881
Option 1 1D : 34212361873
Option 2 ID : 34212361874
Option 3 ID : 34212361875
Option 4 ID : 34212361876
Status : Answered
Chosen Option : 2




Q.97

Which of the following are the assumptions of Gordon's dividend-capitalization model?

A. No taxes

B. Cost of capital is less than the growth rate
C. No internal financing

D. Constant retention

E. Constant cost of capital

Choose the correct answer from the options given below:
1.A,B & D only
2.B,C & Eonly
3.A, C&Donly
4.A.D & E only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315875
Option 1 ID : 34212361849

Option 2 ID : 34212361850
Option 3 ID : 34212361851
Option 4 1D : 34212361852
Status : Answered
Chosen Option : 1




Q.98

Match the List-l with List-ll

LISTI LISTI
Institutions Date of establishment
A. |National Housing Bank . 101-07-1964
B. |Industrial Development Bank of India II. 101-07-1948
C. | Small Industrial Development Bank of India| Ill. [02-04-1990
D. |Industrial Finance Corporation of India IV. | 09-07-1988

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-IV

2. A-III, B-1, C-IV, D-II

3..A-1, B-1V, CII, D-IT

4. A-IV, B-1, C-1II. D-II

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315898
Option 1 ID : 34212361941

Option 2 ID : 34212361942
Option 3 ID : 34212361943
Option 4 ID : 34212361944
Status : Answered
Chosen Option : 2




Q.99

Match the List-l with List-ll

LISTI LISTII
Valuation of Human Resources approach| Developed by
A. | Historical Cost approach I. |Rensis Likert and Eric G Flamholtz
B. |Replacement Cost approach Il. | Hekimian and Jones
C. |Opportunity Cost approach [Il. [David Watson
D. | Standard Cost approach IV. | Brummet Flamholtz and Pyle

Choose the correct answer from the options given below:

1. A-1, B-1I, C- III, D-IV

2.A-TII, B-1V, C- 1, D-II

3.A-L B-IV.C-1I. D-III

4. A-1V,B- I, C-1I, D-III

Options 1.1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315890
Option 1 ID : 34212361909

Option 2 ID : 34212361910
Option 3 ID : 34212361911
Option 4 ID : 34212361912
Status : Answered
Chosen Option : 1




Q.100
Match the List-l with List-ll

LISTI LISTII
Concept Meaning
A. | Systematic risk |. | Compensation for time
B. |Beta II. |Increase in corporate tax rate
C. |Risk-free rate I, | Sensitivity coefficient
D. [Unsystematic risk| IV. | Competitor enters the market

Choose the correct answer from the options given below:

1. A-1, B-1V, C-III, D-1I
2. A-1V, B-I, C-1I, D-III
3. A-III, B-1I, C-IV, D-1

4. A-II B-1II, C-1, D-IV

Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315893
Option 1 ID : 34212361921

Option 2 ID : 34212361922
Option 3 ID : 34212361923
Option 4 ID : 34212361924
Status : Answered
Chosen Option : 2




Q.101
Match the List-l with List-ll

LISTI LISTII

Ind AS Related
A |Ind AS-12 |. | Leases
B. |Ind AS-17 II. | Borrowing Costs
C. [Ind AS-19 [Il. | Employee Benefits
D. |Ind AS-23 IV. | Income Taxes

Choose the correct answer from the options given below:

1.A-1V,B- 1, C-1II, D-II
2. A-III, B-11, C-IV, D-1
3.A-1 B-IV,C-1II, D-Il

4. A-IV, B-1II. C- 1, D-1I

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315891
Option 1 ID : 34212361913

Option 2 ID : 34212361914
Option 3 ID : 34212361915
Option 4 ID : 34212361916
Status : Answered
Chosen Option : 3




Q.102

Data preparation needs to ensure the accuracy of the data and their conversion from raw form to
reduced and classified forms for analysis. It includes which of the following:

A. Coding

B. Data Entry

C. Editing
D. Steming

E. Aliasing

Choose the correct answer from the options given below:

1.A& Conly

2.B & D only

3.A,B & Conly

4.C,D & E only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315876
Option 1 ID : 34212361853
Option 2 ID : 34212361854
Option 3 ID : 34212361855
Option 4 ID : 34212361856
Status : Answered
Chosen Option : 3
Q.103

Under the Income-Tax-Act, 1961, the value of perquisite in respect of movable assets (other than
the assets already specified in Rule 3 of the Income tax Rules, 1962) owned by the employer is
calculated at the rate of :

1. 10% per annum of the actual cost

2. 20% per annum of the actual cost

3. 10% per month of the actual cost

4. 20% per month of the actual cost
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 34212315849
Option 1 ID : 34212361745

Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option : 2

34212361746
34212361747
34212361748
Answered




Q.104 Compute the after-tax cost of capital of a company in case a perpetual bond (face value is T100)

is sold as well as redeemed at par having coupon rate of interest being 7% and corporate tax rate
is 30%.

1.2.1%
2.4.9%
3. 7%

4. 10%
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315827
Option 1 ID : 34212361657

Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option : 3

34212361658
34212361659
34212361660
Answered

Q.105 ) . . -
Which of the following are true in case of Internal Reconstruction?

A. The existing company is liquidated

B. No new company is formed

C. There is certain reduction of capital and sometime liabilities are also reduced
D. The new company issues fresh capital

E. It is done as per section 66 of the Companies Act, 2013

Choose the correct answer from the options given below:
1.A,D & E only
2.A,C & Eonly
3.B,C & E only

4.B.C &Donly

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315871
Option 1 ID : 34212361833

Option 2 ID :
Option 3D :
Option 4 ID :

Status :

34212361834
34212361835
34212361836
Answered

Chosen Option : 3




Q.106

what is the number of units that used to be sold in order to achieve a profit of T84,000?
1. 6000 units
2. 8400 units
3. 5000 units
4. 6500 units

Options 1. 1
2.2
3.3
4.4

If selling price per unit is T56.00. Variable cost per unit is ¥32.00 and total fixed cost is T60.000.

Question Type : MCQ
Question ID : 34212315817
Option 1 ID : 34212361617

Option 2 ID :
Option 3D :
Option 4 ID :

Status :

34212361618
34212361619
34212361620
Answered

Chosen Option : 4

Q107 Arrange the given steps involved in designing a channel system in the logical order -

A. Evaluating the distribution environment

B. Evaluating the short-listed alternative designs and selecting the one that suits the firm best

C. Matching the channel design to customer needs/characteristics
D. Choosing the channel intensity and number of tiers

E. Evaluating competitors channel design

Choose the correct answer from the options given below:

LACIEB.D

2.C;AE. D, B

3:C.E;D;A;B

4.C,AE,B,D

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315863
Option 1 ID : 34212361801

Option 2 ID :
Option 3D :
Option 4 ID :

Status :

34212361802
34212361803
34212361804
Answered

Chosen Option : 3




Q.108 In WTO terminology, subsidies in general are identified by “boxes™. Domestic support measure

considered to distort production and trade, which is defined in Article 6 of the Agriculture
Agreement falls into which box?

1. Amber Box
2. Jumbo Box
3. Greeenfield Box

4. Black Box
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315813
Option 1 ID : 34212361601

Option 2 ID : 34212361602
Option 3 ID : 34212361603
Option 4 ID : 34212361604
Status : Answered
Chosen Option : 2

Q.109 Match the List-l with List-ll
LISTI LISTI
Concept Meaning
N Rate that equates the investment outlay with the present
A. | Profitability. Index L value of cash inflow received after one period
B Accounting Rate of I Compound average annual rate that is calculated with a
* |Return (ARR) * |reinvestment rate different than the project's IRR
c Internal Rate of Return I Rate that is computed by dividing the average profit after
" [(IRR) * |tax with the average investment
D Modified Internal Rate of v Ratio of the present value of cash inflows, at the required
* |Return (MIRR) " | rate of return, to the initial cash outflow of the investment
Choose the correct answer from the options given below:
1. A- IV, B-IIL, C-I1. D-IT
2. A-I, B-1IV, C-II, D-III
3. A-1I, B-L, C-IIL, D-IV
4. A-III, B-II. C-IV, D-1
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315894
Option 1 ID : 34212361925

Option 2 ID : 34212361926
Option 3 ID : 34212361927
Option 4 ID : 34212361928
Status : Answered
Chosen Option : 1




Q.110

Match the List-l with List-ll

LISTI

Macro Level Organizational Stressors

LISTII
Examples

A. [Administrative Policies and Strategies

Crowded work area

B. | Organizational Structure and Design

Merit Pay Plans

C. |Organizational Processes

No opportunity for advancement

D. |Working Conditions

Lack of participation in decisions

Choose the correct answer from the options given below:

1. A-IL, B-IIL, C-IV, D-I
2. A-III, B-II, C-IV, D-I
3. A-IL, B-1V, C-III, D-I

4. A-IV, B-1, C-II, D-III

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315897
Option 1 ID : 34212361937
Option 2 ID : 34212361938
Option 3 ID : 34212361939
Option 4 ID : 34212361940
Status : Answered
Chosen Option : 1
Q.111

Which of the following is NOT the assumption of Baumol's model of cash management?

1. The firm is unable to forecast its cash needs with certainty

2. The opportunity cost of holding cash is known

3. The firm will incur the same transaction cost whenever it converts securities to cash

4. The firm's cash payments occur uniformly over a period of time

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315826
Option 1 ID : 34212361653

Option 2 ID : 34212361654
Option 3 ID : 34212361655
Option 4 ID : 34212361656
Status : Answered
Chosen Option : 3




Q.112

Match the List-l with List-ll

LISTI LISTII
Product Description
A. | Dinosaur I. | Products that are beautiful but unsaleable
B. |Flamingo II. | Products that are blind to the future
C. | Ostrich IIl. | Products that are source of a profitable future
D. |Pearl IV. | Products that have missed their niche

Choose the correct answer from the options given below:

1. A-IV, B-IL, C-1, D-III

2. A-1L, B-1, C-1V, D-III

3. A-I, B-II, C-IV, D-III

4. A-IV, B-1, C-I1, D-III

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315899
Option 1 1D : 34212361945

Option 2 ID : 34212361946
Option 3 ID : 34212361947
Option 4 1D : 34212361948
Status : Answered
Chosen Option : 1




Q113 Match the List-l with List-ll

LISTI LISTH
Purpose for which deduction is given under the Income-tax Act, 1961 | Relevant Section
A. | Contribution to Agnipath Scheme I. |Section 80TTB
B Profits and gains from business of collecting and processing of bio- 1 Section

* |degradable waste * | 80GGB
- S — Section

C. |Interest on deposits in case of senior citizens 1. 80CCH
D. |Contributions given by companies to political parties IV. [ Section 80JJA

Choose the correct answer from the options given below:

1. A-IIT, B-1IV, C-L. D-II
2. A-II, B-1V, C-II1, D-1
3. A-IV, B-III, C-I, D-II

4. A-L, B-II, C-IV, D-III

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315902
Option 1 ID : 34212361957
Option 2 ID : 34212361958
Option 3 ID : 34212361959
Option 4 ID : 34212361960
Status : Answered
Chosen Option : 3
Q.114

Which one of the following is NOT an issue (to be tackled) of conceptual component of a CRM
programme?

1. Choosing the technology
2. Setting out the objectives in clear terms
3. Processing all customer requests coming in through multiple channels

4. Putting customers first

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315844
Option 1 ID : 34212361725

Option 2 ID : 34212361726
Option 3 ID : 34212361727
Option 4 ID : 34212361728
Status : Answered
Chosen Option : 3




115
Q The rate of diffusion of any innovation depends upon the following factors:

A. The relative advantage of the innovation over previous solutions
B. The compatibility of the innovation with existing values and norms
C. A lack of complexity in using the innovation

D. The divisibility of the innovation facilitating low-risk trial

E. The communicability of the advantages of the innovation

Choose the correct answer from the options given below:

1.A, C & E Only
2.A.B,C & Eonly

3.A.B.C.D&E

4.B & D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315883
Option 1 ID : 34212361881
Option 2 ID : 34212361882
Option 3 ID : 34212361883
Option 4 ID : 34212361884
Status : Answered
Chosen Option : 2
Q.116 . . .. - .
The maximum number of Partners in a Limited Liability Partnership can be :
1. Seven
2. Fifty
3. Hundred
4, No Limit
Options 1. 1
2.2
3.3
4.4

Option 2 ID :
Option 3D :
Option 4 ID :

Status :

Question Type : MCQ
Question ID : 34212315848
Option 1 ID : 34212361741

34212361742
34212361743
34212361744
Answered

Chosen Option : 1




Q.117

Match the List-l with List-ll

LISTI LISTII
Shapes Type of Distribution
I. | Platykurtic Distribution
II. |Positively Skewed
’/I\ [ll. | Negatively Skewed
IV | Leptokurtic Distribution

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IIL, B-IV, C-I, D-II
2. A-I1, B-1V, C-I, D-III
3. A-IIL, B-1, C-1V, D-II

4. A-1V, B-1, C-1II, D-II

Question Type : MCQ
Question ID : 34212315895
Option 1 ID : 34212361929

Option 2 ID : 34212361930
Option 3 ID : 34212361931
Option 4 ID : 34212361932
Status : Answered
Chosen Option : 2




Q.118

Arrange the given Prefatory Information sub - modules into a sequence to form a Long
Management Report -

A. Title Page

B. Executive Summary

C. Table of contents

D. Letter of transmittal

E. Authorization statement

Choose the correct answer from the options given below:
1.B,C.D.AE
2.E;D;B,C,A
3.D,AE,B,C

4.C,A,D.E.B

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315859
Option 1 ID : 34212361785

Option 2 ID : 34212361786
Option 3 ID : 34212361787
Option 4 ID : 34212361788
Status : Answered
Chosen Option : 4

Q119 The tool that International Development Association (IDA) uses to address the impact of severe

natural disasters, public health emergencies by providing extra finances is known as
1. Emergency Response Fund (ERF)
2. Long term Lending system
3. Crisis Response Window (CRW)

4. Monetary Fund

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315815
Option 1 ID : 34212361609

Option 2 ID : 34212361610
Option 3 ID : 34212361611
Option 4 ID : 34212361612
Status : Answered
Chosen Option : 3




Q.120
Which of the following are the characteristics of a Leader?

A. Focuses on systems and structure
B. Eye on the horizon

C. Asks how and when

D. Does things right

E. Originates

Choose the correct answer from the options given below:

1.A,B & D Only
2. B & E Only
3.B,C & D Only

4.A.B.D & E Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315879
Option 1 ID : 34212361865

Option 2 ID : 34212361866
Option 3 1D : 34212361867
Option 4 ID : 34212361868
Status : Answered
Chosen Option : 1




Q.121

Match the List-l with List-ll

LISTI LISTII
Personality Traits Descriptive Characteristics|
A. |Conscientiousness |. | Outgoing
B. |Agreeableness Il. | Caring
C. |Extraversion [Il. | Creative
D. | Openness to experience| IV. | Depenable

Choose the correct answer from the options given below:

1. A-III, B-II, C-1, D-IV

2. A-IV, B-1I, C-III, D-I

(8}

. A-IV, B-1I., C-I, D-III

4. A-I, B-IL C-IIL, D-IV

Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315896
Option 1 ID : 34212361933

Option 2 ID : 34212361934
Option 3 ID : 34212361935
Option 4 ID : 34212361936
Status : Answered
Chosen Option : 3




Q.122

Which among the following are the key aspects/ determinants for an equilibrium under

monopolistic competition?
A. The mobility of factors of production
B. The Price
C. Imperfect knowledge about the market
D. The Nature of the Product
E. The amount of advertising outlay
Choose the correct answer from the options given below:
1.B.D & E only
2.A,B & C only
3.B.C & D only

4.C,D & E only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315873
Option 1 ID : 34212361841
Option 2 ID : 34212361842
Option 3 ID : 34212361843
Option 4 ID : 34212361844
Status : Answered
Chosen Option : 1
Q.123

Which of the following subsidiaries are fully owned by the Reserve Bank of India ?

A. National Housing Bank

B. National Bank for Agriculture and Rural Development
C. The Deposit Insurance and Credit Guarantee Corporation of India

D. Bhartiya Reserve Bank Note Mudran Private Limited
E. Securities Trading Corporation of India

Choose the correct answer from the options given below:

1.A, C & D Only
2.A,D & E Only
3.B.D & E Only

4.B.C & E Only

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315880
Option 1 ID : 34212361869

Option 2 ID : 34212361870
Option 3 ID : 34212361871
Option 4 ID : 34212361872
Status : Answered
Chosen Option : 2




Q124 The Narsimhan Committee 1991 recommended the reforms with respect to the banking sector.

These reforms are also known as:
1. First generation reforms
2. Second generation reforms
3. Financial sector reforms

4. Third generation reforms

Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315840
Option 1 ID : 34212361709
Option 2 ID : 34212361710
Option 3 ID : 34212361711
Option 4 ID : 34212361712
Status : Answered
Chosen Option : 3
Q.125

In which of the following cases. undue influence is presumed :

1. Creditor and debtor
2. Landlord and tenant
3. Husband and Wife

4. Parent and Child

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315846
Option 1 ID : 34212361733

Option 2 ID : 34212361734
Option 3 ID : 34212361735
Option 4 ID : 34212361736
Status : Answered
Chosen Option : 2




Q126 How much per cent of income by way of interest received on compensation or on enhanced

compensation is allowed as deduction while computing income under the head Income from
Other Sources under the Income-tax Act, 1961?

1.25%
2.50%
3.75%

4. 100%
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315850
Option 1 ID : 34212361749

Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option : 2

34212361750
34212361751
34212361752
Answered

127 . . . . . .
Q Which one of the following selection tests answers the question “Does this test measure what it's

supposed to measure™?

1. Content validity
2. Criterion validity
3. Contruct validity

4. Test validity

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315835
Option 1 ID : 34212361689

Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option : 4

34212361690
34212361691
34212361692
Answered




Q128 Arrange the following steps for the Incorporation of a new LLP (Limited Liability Partnership) in

the correct order -

A. Drafting of LLP Agreement

B. Deciding the partners and designated partners

C. Electronic filing of documents with ROC & issuing of Certificate of Incorporation by ROC
(Registrar of Companies)

D. Checking the availability of Name

E. Obtaining DPIN & Digital Signature Certificate

Choose the correct answer from the options given below:
1.B,E,D.A,C
2.C,A,B,D,E
3.4;B,C,/D/E
4.E.A.C.D.B

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315865
Option 1 ID : 34212361809

Option 2 ID : 34212361810
Option 3 ID : 34212361811
Option 4 ID : 34212361812
Status : Answered
Chosen Option : 1

Q.129

Which of the following are social factors influencing consumer buying behavior?

A. Culture

B. Reference groups
C. Social Class

D. Roles assumed
E. Sub-culture

Choose the correct answer from the options given below:
1.A,B & C Only
2.B & D Ounly
3.A,C &DOnly

4.B.D & E Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315882
Option 1 ID : 34212361877

Option 2 ID : 34212361878
Option 3 ID : 34212361879
Option 4 ID : 34212361880
Status : Answered
Chosen Option : 1




Q.130 . .. ..
Which one of the following is known as backbone of auditing?

1. Verification of assets
2. Internal check
3. Vouching

4. Internal audit

Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315820
Option 1 ID : 34212361629
Option 2 ID : 34212361630
Option 3 ID : 34212361631
Option 4 ID : 34212361632
Status : Answered
Chosen Option : 3
Q.131

An exploratory study is finished when the researcher has achieved the following:

A. Established the major dimensions of the research task

B. Defined a set of subsidiary investigative questions that can be used as guides to a detailed
research design

C. Developed several hypotheses about possible causes of a management dilemma

D. Learned that certain other hypothesis are such remote possibilities that they can be safely
ignored in any subsequent study

E. Concluded additional research is needed and it is feasible

Choose the correct answer from the options given below:
1. A& Bonly
2.A.B & Conly
3.A,B.C &Donly
4.B,C.D & Eonly

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315877
Option 1 ID : 34212361857

Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option : 2

34212361858
34212361859
34212361860
Answered




Q132 Which one of the following is a correct assumption of Law of Diminishing Returns to a variable

Input ?
1. Labour and Capital are the only variable inputs
2. The units of Labour and Capital are homogeneous
3. The state and technology is not given

4. Input prices are given

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315823
Option 1 ID : 34212361641
Option 2 ID : 34212361642
Option 3 ID : 34212361643
Option 4 ID : 34212361644
Status : Answered
Chosen Option : 2
Q.133

The current ratio of a company is 2:1. Which one the following suggestions would improve the
current ratio?

1. Purchase of stock for cash

2. Cash collection from debtors
3. Pay a current liability

4. Purchase of fixed assets

Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315818
Option 1 ID : 34212361621

Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option : 3

34212361622
34212361623
34212361624
Answered




134 . . . . .
Q Which one of the following cost-value-price trio, a manufacturer would like to seek?

1. Value = Price = Costs
2. Price > Value > Costs
3. Price = Costs = Value

4. Price = Value = Costs

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315842
Option 1 ID : 34212361717
Option 2 ID : 34212361718
Option 3 ID : 34212361719
Option 4 ID : 34212361720
Status : Answered
Chosen Option : 1
Q135 Match the List-l with List-ll
LISTI
I:setgrg:ri!ae?':tes Their E'xspll-al:lation
A Inchoate I When negotiable instrument is delivered conditionally or for a
Instrument specific purpose as a collateral security or for safe custody only
B Ambiguous I When the name of the drawer, or the payee, or both are fake in a
Instrument bill
& |Eierow i When the instrument owing to its faulty drafting may be interpreted
either as a promissory note or bill of exchange
) e | e et s  poson i

Choose the correct answer from the options given below:

1. A-IL, B-1IL, C-I, D-IV
2. A-IIL B-II. C-1IV, D-I
3. A-IV, B-III, C-I, D-II
4. A-I, B-II, C-III, D-IV

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315900
Option 1 ID : 34212361949

Option 2 ID : 34212361950
Option 3 ID : 34212361951
Option 4 ID : 34212361952
Status : Answered
Chosen Option : 3




Q.136

Choose the correct answer from the options given below:

Match the List-l with List-ll

LISTI LISTII
Trade Agreement Types Description

Two or more parties give right of entry to certain

A. |Early Harvest Scheme (EHS) I. | products by reducing duties on an agreed number in
tariff lines

B Comprehensive Economic I In which two or more countries agree to provide

| Partnership Agreement (CEPA) " |trade terms, tariff concession to partner country/ies
: A Precursor of CECA, thus a step towards enhanced

C. |Preferential Trade Agreement . engagement and confidence building
Looks into the regulatory aspect of trade and

D. |Free Trade Agreement IV. |encompasses an agreement on customs,
competition & IPR

1. A-1II, B-1V, C- I, D-II
2.A-1IV,B-1II, C-II, D-I
3.A-1,B-1II, C-II, D-IV

4. A-1II. B- L, C- IV, D-III

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212315889
Option 1 ID : 34212361905
Option 2 ID : 34212361906
Option 3 ID : 34212361907
Option 4 ID : 34212361908
Status : Answered
Chosen Option : 1
Q.137

Which one of the following is Value Added Service of EXIM Bank?

Options 1. 1

1. Line of Credit
2. Pre-shipment Credit
3. Buyers Credit

4. Export Marketing Services

2.2
3.3
4.4

Option 2 ID :
Option 3D :
Option 4 ID :

Status :

Question Type : MCQ
Question ID : 34212315838
Option 1 ID : 34212361701

34212361702
34212361703
34212361704
Answered

Chosen Option : 2




Q138 Arrange the steps of Sampling Design in a form of questions that are to be answered in securing a

sample -

A. What is the appropriate sampling method?
B. What are the parameters of interest?

C. What size sample is needed?

D. What is the target population?

E. What is the sampling frame?

Choose the correct answer from the options given below:
1.E,D.B,A,C
2.B,E,A,C,D
3.C,B.AE.D
4.D,B,E,A,C
Options 1. 1
2.2

3.3
4.4

Option 3ID :
Option 4 ID :
Status :

Question Type : MCQ
Question ID : 34212315858
Option 1 ID : 34212361781

Option 2 ID :

34212361782
34212361783
34212361784
Answered

Chosen Option : 3

.139
Q Which of the following are true about Digital Signature under Information Technology (IT) Act,

2000?

A. A Digital Signature is an Electronic Signature

B. Digital Signatures are accepted Globally

C. Each vendor has to make his own standard to regulate Digital Signatures
D. The term Electronic Signature is broader than Digital Signature

E. A Digital Signature is less secure than Electronic Signature

Choose the correct answer from the options given below:
1.A,D & E Only
2.A,B &D Only
3.C.B & E Only

4.B, C & D Only
Options 1. 1
2.2
3.3
4.4

Option 2 ID :
Option 3D :
Option 4 ID :

Status :

Question Type : MCQ
Question ID : 34212315884
Option 1 ID : 34212361885

34212361886
34212361887
34212361888
Answered

Chosen Option : 1




Q-140 In which one of the following ratios, the share capital of RRBs is prescribed for the Central

Government, State Government and Sponsoring bank?
1.50:30:20
2.50:35:15
3.60:20:20

4.50:15:35

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315837
Option 1 ID : 34212361697

Option 2 ID : 34212361698
Option 3 ID : 34212361699
Option 4 ID : 34212361700
Status : Answered
Chosen Option : 1




Q.141

Comprehension:

Read the passage and answer the questions given below.

The export hubs are expected to act as a center for favourable business infrastructure and
facilities for cross-border e-commerce, including facilitating faster customs clearance of cargo
and also addressing the problem of reimportation because about 25 per cent of goods in e-
commerce are reimported. Additionally, the hubs will offer warehousing facilities, processing
returns, labelling, product, testing, repackaging items and dedicated logistics infrastructure for
connecting to and leveraging the services of nearby logistics hubs, thereby achieving
agglomeration benefits for exporters.

In an attempt to leverage e-commerce platforms to support local exporters, manufacturers and
MSMEs in reaching potential international buyers, the DGFT signed a memorandum of
understanding with global e-commerce firm Amazon last year to offer capacity-building sessions,
training and workshops for MSMEs across districts identified by the DGFT as part of the
"District as Exports Hub™ initiative. Amazon surpassed $8 billion in cumulative exports from
India in 2023 and aims to achieve its ambitious target of $20 billion by next year.

India’s exports through online platforms stood at $8-10 billion in 2022-23 compared to China’s
staggering figure of more than $300 billion. A key reason for this gap is the cumbersome
compliance process associated with exports, especially when it comes to payment reconciliation,
which is particularly challenging for new or small exporters. At the same time, global cross-
border e-commerce trade was $800 billion. With India’s cross-border e-commerce exports likely
to increase to $200 billion over the next six to seven years, it can become a key strategy in
achieving the $2 trillion overall exports target by 2030.

India’s services export increased by only S15.8 billion in 2023-24 over 2022-23, while
merchandise export declined $14 billion in the same period. Overall, India’s combined value of
exported goods and services registered a marginal increase of around $2 billion in 2023-24. At a
time when export growth remains tepid and the overall trade deficit is around $78 billion,
establishing a supportive e-commerce ecosystem can truly give a fillip to India’s export
performance. Given the patchwork of rules and export provisions framed for exporters, there is
an urgent for a separate e-commerce export policy, which can ease the compliance burden on
exporters.

SubQuestion No : 141

E-commerce export hub can offer which of the following agglomeration benefits for exporters?
A. Repacking and labelling of products
B. Substantial decrease in upfront cost incurred in export
C. Interconnection of Logistics Custom clearance exemption
D. Custom clearance exemption
E. Assured export orders
Choose the correct answer from the options given below:
1.A.B & C Only
2.B,C &D Only
3.A,B & EOnly

4.C.,D & E Only

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315907
Option 1 ID : 34212361973

Option 2 ID : 34212361974
Option 3 ID : 34212361975
Option 4 ID : 34212361976
Status : Answered
Chosen Option : 1

Comprehension:




Q.142

Read the passage and answer the questions given below.

The export hubs are expected to act as a center for favourable business infrastructure and
facilities for cross-border e-commerce, including facilitating faster customs clearance of cargo
and also addressing the problem of reimportation because about 25 per cent of goods in e-
commerce are reimported. Additionally, the hubs will offer warehousing facilities, processing
returns, labelling, product. testing, repackaging items and dedicated logistics infrastructure for
connecting to and leveraging the services of nearby logistics hubs, thereby achieving
agglomeration benefits for exporters.

In an attempt to leverage e-commerce platforms to support local exporters, manufacturers and
MSMEs in reaching potential international buyers, the DGFT signed a memorandum of
understanding with global e-commerce firm Amazon last year to offer capacity-building sessions,
training and workshops for MSMEs across districts identified by the DGFT as part of the
"District as Exports Hub™ initiative. Amazon surpassed $8 billion in cumulative exports from
India in 2023 and aims to achieve its ambitious target of $20 billion by next year.

India’s exports through online platforms stood at $8-10 billion in 2022-23 compared to China’s
staggering figure of more than $300 billion. A key reason for this gap is the cumbersome
compliance process associated with exports, especially when it comes to payment reconciliation,
which is particularly challenging for new or small exporters. At the same time, global cross-
border e-commerce trade was $800 billion. With India’s cross-border e-commerce exports likely
to increase to $200 billion over the next six to seven years, it can become a key strategy in
achieving the S2 trillion overall exports target by 2030.

India’s services export increased by only S15.8 billion in 2023-24 over 2022-23, while
merchandise export declined $14 billion in the same period. Overall, India’s combined value of
exported goods and services registered a marginal increase of around S2 billion in 2023-24. At a
time when export growth remains tepid and the overall trade deficit is around S$78 billion,
establishing a supportive e-commerce ecosystem can truly give a fillip to India’s export
performance. Given the patchwork of rules and export provisions framed for exporters, there is
an urgent for a separate e-commerce export policy, which can ease the compliance burden on
exporters.

SubQuestion No : 142
Why there is an urgent need for a separate e-commerce export policy?
A. Reimport issues are being addressed by existing export policies
B. Cross-border e-commerce has gained significantly in last few years
C. Existing export centers have favorable business infrastructure
D. E-commerce export can be managed with existing logistic hubs
E. E-commerce exports need a combination of facilities including warehousing. processing
returns, repacking
Choose the correct answer from the options given below:
1. A& C Only
2.B,C & D Only
3.B & E Only

4.C,D & E Only




Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 1 ID :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :
Chosen Option :

MCQ
34212315908
34212361977
34212361978
34212361979
34212361980
Answered

1




Q.143

Comprehension:

Read the passage and answer the questions given below.

The export hubs are expected to act as a center for favourable business infrastructure and
facilities for cross-border e-commerce, including facilitating faster customs clearance of cargo
and also addressing the problem of reimportation because about 25 per cent of goods in e-
commerce are reimported. Additionally, the hubs will offer warehousing facilities, processing
returns, labelling, product, testing, repackaging items and dedicated logistics infrastructure for
connecting to and leveraging the services of nearby logistics hubs, thereby achieving
agglomeration benefits for exporters.

In an attempt to leverage e-commerce platforms to support local exporters, manufacturers and
MSMEs in reaching potential international buyers, the DGFT signed a memorandum of
understanding with global e-commerce firm Amazon last year to offer capacity-building sessions,
training and workshops for MSMEs across districts identified by the DGFT as part of the
"District as Exports Hub™ initiative. Amazon surpassed $8 billion in cumulative exports from
India in 2023 and aims to achieve its ambitious target of $20 billion by next year.

India’s exports through online platforms stood at $8-10 billion in 2022-23 compared to China’s
staggering figure of more than $300 billion. A key reason for this gap is the cumbersome
compliance process associated with exports, especially when it comes to payment reconciliation,
which is particularly challenging for new or small exporters. At the same time, global cross-
border e-commerce trade was $800 billion. With India’s cross-border e-commerce exports likely
to increase to $200 billion over the next six to seven years, it can become a key strategy in
achieving the $2 trillion overall exports target by 2030.

India’s services export increased by only S15.8 billion in 2023-24 over 2022-23, while
merchandise export declined $14 billion in the same period. Overall, India’s combined value of
exported goods and services registered a marginal increase of around $2 billion in 2023-24. At a
time when export growth remains tepid and the overall trade deficit is around $78 billion,
establishing a supportive e-commerce ecosystem can truly give a fillip to India’s export
performance. Given the patchwork of rules and export provisions framed for exporters, there is
an urgent for a separate e-commerce export policy, which can ease the compliance burden on
exporters.

SubQuestion No : 143

India's export through online platforms in comparison to China in 2022-23 was-

1. 9%
2. 6%
3. 12%

4.3%

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315905
Option 1 ID : 34212361965

Option 2 ID :

Option 3D :

Option 4 ID :
: Answered
Chosen Option : 4

34212361966
34212361967
34212361968




Q.144

Comprehension:

Read the passage and answer the questions given below.

The export hubs are expected to act as a center for favourable business infrastructure and
facilities for cross-border e-commerce, including facilitating faster customs clearance of cargo
and also addressing the problem of reimportation because about 25 per cent of goods in e-
commerce are reimported. Additionally, the hubs will offer warehousing facilities, processing
returns, labelling, product, testing, repackaging items and dedicated logistics infrastructure for
connecting to and leveraging the services of nearby logistics hubs, thereby achieving
agglomeration benefits for exporters.

In an attempt to leverage e-commerce platforms to support local exporters, manufacturers and
MSMEs in reaching potential international buyers, the DGFT signed a memorandum of
understanding with global e-commerce firm Amazon last year to offer capacity-building sessions,
training and workshops for MSMEs across districts identified by the DGFT as part of the
"District as Exports Hub™ initiative. Amazon surpassed $8 billion in cumulative exports from
India in 2023 and aims to achieve its ambitious target of $20 billion by next year.

India’s exports through online platforms stood at $8-10 billion in 2022-23 compared to China’s
staggering figure of more than $300 billion. A key reason for this gap is the cumbersome
compliance process associated with exports, especially when it comes to payment reconciliation,
which is particularly challenging for new or small exporters. At the same time, global cross-
border e-commerce trade was $800 billion. With India’s cross-border e-commerce exports likely
to increase to $200 billion over the next six to seven years, it can become a key strategy in
achieving the $2 trillion overall exports target by 2030.

India’s services export increased by only S15.8 billion in 2023-24 over 2022-23, while
merchandise export declined $14 billion in the same period. Overall, India’s combined value of
exported goods and services registered a marginal increase of around $2 billion in 2023-24. At a
time when export growth remains tepid and the overall trade deficit is around $78 billion,
establishing a supportive e-commerce ecosystem can truly give a fillip to India’s export
performance. Given the patchwork of rules and export provisions framed for exporters, there is
an urgent for a separate e-commerce export policy, which can ease the compliance burden on
exporters.

SubQuestion No : 144

Which of the following statements are correct based on export related details given in the
passage?

A. India's services export declined in 2023-24 over 2022-23
B. India's export through online platform is less than China in 2022-23
C. Amazon targets to double or more than double its exports from India in 2024-25
D. More than 20% of goods in e-commerce are reimported
E. India's merchandize exports increased in 2023-24 over 2022-23
Choose the correct answer from the options given below:
1. A, B & C Only
2.B,C & D only
3.C.D & E Only

4.A.B &E Only

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315906
Option 1 ID : 34212361969

Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option : 2

34212361970
34212361971
34212361972
Answered




Comprehension:

Read the passage and answer the questions given below.

The export hubs are expected to act as a center for favourable business infrastructure and
facilities for cross-border e-commerce, including facilitating faster customs clearance of cargo
and also addressing the problem of reimportation because about 25 per cent of goods in e-
commerce are reimported. Additionally, the hubs will offer warehousing facilities, processing
returns, labelling, product, testing, repackaging items and dedicated logistics infrastructure for
connecting to and leveraging the services of nearby logistics hubs, thereby achieving
agglomeration benefits for exporters.

In an attempt to leverage e-commerce platforms to support local exporters, manufacturers and
MSMEs in reaching potential international buyers, the DGFT signed a memorandum of
understanding with global e-commerce firm Amazon last year to offer capacity-building sessions,
training and workshops for MSMEs across districts identified by the DGFT as part of the
"District as Exports Hub™ initiative. Amazon surpassed $8 billion in cumulative exports from
India in 2023 and aims to achieve its ambitious target of $20 billion by next year.

India’s exports through online platforms stood at $8-10 billion in 2022-23 compared to China’s
staggering figure of more than $300 billion. A key reason for this gap is the cumbersome
compliance process associated with exports, especially when it comes to payment reconciliation,
which is particularly challenging for new or small exporters. At the same time, global cross-
border e-commerce trade was $800 billion. With India’s cross-border e-commerce exports likely
to increase to $200 billion over the next six to seven years, it can become a key strategy in
achieving the $2 trillion overall exports target by 2030.

India’s services export increased by only S15.8 billion in 2023-24 over 2022-23, while
merchandise export declined $14 billion in the same period. Overall, India’s combined value of
exported goods and services registered a marginal increase of around $2 billion in 2023-24. At a
time when export growth remains tepid and the overall trade deficit is around $78 billion,
establishing a supportive e-commerce ecosystem can truly give a fillip to India’s export
performance. Given the patchwork of rules and export provisions framed for exporters, there is
an urgent for a separate e-commerce export policy, which can ease the compliance burden on
exporters.

SubQuestion No : 145

.145 . . . . .
Q Which enterprise has been identified to mentor the MSMEs for bosting e-commerce exports?

1. DGFT
2. Walmart
3. Amazon

4.DGCA
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315904
Option 1 ID : 34212361961

Option 2 ID : 34212361962
Option 3 ID : 34212361963
Option 4 ID : 34212361964
Status : Answered
Chosen Option : 1




Comprehension:

Read the passage and answer the question given below:

National power demand in India has hit 250 Gw, 25 per cent more than last year and 71 per cent
more than in 2022. The power ministry has rightly taken pride in ensuring that thermal power
stations have adequate stocks of coal to keep the lights, fans and air-conditioning on. This has
been a chronic problem in previous summers, leading to prolonged outages. This year, coal stocks
have reached plants well on time. As on June 23, 2024 thermal power plants had 16 days of
stocks as against 9.4 days on June 23, 2022 and 12.7 days on the same day in 2023.

The Government expects to add 15.4 Gw of coal-fired capacity in 2024-25. the highest in 9 years
and 90 Gw by 2032. A programme of “Coal Reforms 3.0 is on the agenda to increase the
availability of coal for industrial sectors, especially steel units, with the broad objective of
reducing imports to zero in the next two financial years.

India has set a target to achieve 50 per cent cumulative installed capacity from non-fossil fuel-
based energy resources by 2030 and has pledged to reduce the emission intensity of its gross
domestic product by 45 per cent by 2030, based on 2005 levels. The installed capacity of non-
fossil power in India is now 45.3 per cent of the total capacity, putting India on track to exceed its
climate-change commitments. But this is illusory progress. The absence of viable storage
technologies has limited grid offtake from renewable sources.

Encouraging industry to continue its dependence on coal is unhelpful. In this respect Coal
Reforms 3.0 appears to be at odds with a scheme announced earlier this year for a pilot project
for given hydrogen to replace coal both as a fuel and as feedstock (which is possible even in steel
produced through the blast furnace route). Given that coal-based thermal plants are responsible
for a disproportionately higher share of emission than the industrial sector, the government may
do well to power India’s economy in the immediate future.

SubQuestion No : 146
Q.146 — . ) ) . .
The availability of coal stock with power plants this year is approximately more than it
was 2 years ago.
1.26%
2.52%

3.70%

4. 100%

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315910
Option 1 ID : 34212361981

Option 2 ID :
Option 3D :
Option 4 ID :

Status :

34212361982
34212361983
34212361984
Answered

Chosen Option : 3




Q.147

Comprehension:

Read the passage and answer the question given below:

National power demand in India has hit 250 Gw, 25 per cent more than last year and 71 per cent
more than in 2022. The power ministry has rightly taken pride in ensuring that thermal power
stations have adequate stocks of coal to keep the lights, fans and air-conditioning on. This has
been a chronic problem in previous summers, leading to prolonged outages. This year, coal stocks
have reached plants well on time. As on June 23, 2024 thermal power plants had 16 days of
stocks as against 9.4 days on June 23, 2022 and 12.7 days on the same day in 2023.

The Government expects to add 15.4 Gw of coal-fired capacity in 2024-25. the highest in 9 years
and 90 Gw by 2032. A programme of “Coal Reforms 3.0 is on the agenda to increase the
availability of coal for industrial sectors, especially steel units, with the broad objective of
reducing imports to zero in the next two financial years.

India has set a target to achieve 50 per cent cumulative installed capacity from non-fossil fuel-
based energy resources by 2030 and has pledged to reduce the emission intensity of its gross
domestic product by 45 per cent by 2030, based on 2005 levels. The installed capacity of non-
fossil power in India is now 45.3 per cent of the total capacity, putting India on track to exceed its
climate-change commitments. But this is illusory progress. The absence of viable storage
technologies has limited grid offtake from renewable sources.

Encouraging industry to continue its dependence on coal is unhelpful. In this respect Coal
Reforms 3.0 appears to be at odds with a scheme announced earlier this year for a pilot project
for given hydrogen to replace coal both as a fuel and as feedstock (which is possible even in steel
produced through the blast furnace route). Given that coal-based thermal plants are responsible
for a disproportionately higher share of emission than the industrial sector, the government may
do well to power India’s economy in the immediate future.

SubQuestion No : 147
Out of the total installed Power capacity, the installed capacity of fossil power is:
1.45.3%
2.50%
3. 54.7%

4. 45%

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315913
Option 1 ID : 34212361993

Option 2 ID :
Option 3D :
Option 4 ID :

34212361994
34212361995
34212361996
Answered

Chosen Option : 1




Q.148

Comprehension:

Read the passage and answer the question given below:

National power demand in India has hit 250 Gw, 25 per cent more than last year and 71 per cent
more than in 2022. The power ministry has rightly taken pride in ensuring that thermal power
stations have adequate stocks of coal to keep the lights. fans and air-conditioning on. This has
been a chronic problem in previous summers, leading to prolonged outages. This year, coal stocks
have reached plants well on time. As on June 23, 2024 thermal power plants had 16 days of
stocks as against 9.4 days on June 23, 2022 and 12.7 days on the same day in 2023.

The Government expects to add 15.4 Gw of coal-fired capacity in 2024-25. the highest in 9 years
and 90 Gw by 2032. A programme of “Coal Reforms 3.0 is on the agenda to increase the
availability of coal for industrial sectors, especially steel units, with the broad objective of
reducing imports to zero in the next two financial years.

India has set a target to achieve 50 per cent cumulative installed capacity from non-fossil fuel-
based energy resources by 2030 and has pledged to reduce the emission intensity of its gross
domestic product by 45 per cent by 2030, based on 2005 levels. The installed capacity of non-
fossil power in India is now 45.3 per cent of the total capacity, putting India on track to exceed its
climate-change commitments. But this is illusory progress. The absence of viable storage
technologies has limited grid offtake from renewable sources.

Encouraging industry to continue its dependence on coal is unhelpful. In this respect Coal
Reforms 3.0 appears to be at odds with a scheme announced earlier this year for a pilot project
for given hydrogen to replace coal both as a fuel and as feedstock (which is possible even in steel
produced through the blast furnace route). Given that coal-based thermal plants are responsible

for a disproportionately higher share of emission than the industrial sector, the government may
do well to power India’s economy in the immediate future.

SubQuestion No : 148

Which of the following power sources have limitation of storage capacity?

A. Wind

B. Solar

C. Thermal
D. Nuclear
E. Hydral

Choose the correct answer from the options given below:

1.A,C & D Only
2. A, B & E Ounly
3.B,C & D Only

4.A.B.D &E Only

Options 1. 1

2.2
3.3
4.4

Status

Question Type : MCQ
Question ID : 34212315912
Option 1 ID : 34212361989

Option 2 ID : 34212361990
Option 3 ID : 34212361991
Option 4 ID : 34212361992

: Answered

Chosen Option : 3




Q.149

Comprehension:
Read the passage and answer the question given below:

National power demand in India has hit 250 Gw, 25 per cent more than last year and 71 per cent
more than in 2022. The power ministry has rightly taken pride in ensuring that thermal power
stations have adequate stocks of coal to keep the lights. fans and air-conditioning on. This has
been a chronic problem in previous summers, leading to prolonged outages. This year, coal stocks
have reached plants well on time. As on June 23, 2024 thermal power plants had 16 days of
stocks as against 9.4 days on June 23, 2022 and 12.7 days on the same day in 2023.

The Government expects to add 15.4 Gw of coal-fired capacity in 2024-25. the highest in 9 years
and 90 Gw by 2032. A programme of “Coal Reforms 3.0 is on the agenda to increase the
availability of coal for industrial sectors, especially steel units, with the broad objective of
reducing imports to zero in the next two financial years.

India has set a target to achieve 50 per cent cumulative installed capacity from non-fossil fuel-
based energy resources by 2030 and has pledged to reduce the emission intensity of its gross
domestic product by 45 per cent by 2030, based on 2005 levels. The installed capacity of non-
fossil power in India is now 45.3 per cent of the total capacity, putting India on track to exceed its
climate-change commitments. But this is illusory progress. The absence of viable storage
technologies has limited grid offtake from renewable sources.

Encouraging industry to continue its dependence on coal is unhelpful. In this respect Coal
Reforms 3.0 appears to be at odds with a scheme announced earlier this year for a pilot project
for given hydrogen to replace coal both as a fuel and as feedstock (which is possible even in steel
produced through the blast furnace route). Given that coal-based thermal plants are responsible
for a disproportionately higher share of emission than the industrial sector, the government may
do well to power India’s economy in the immediate future.

SubQuestion No : 149
Which of the following statement is true?
1. Industrial sector pollute more than coal based thermal power plants
2. The Chronic problem of coal shortage is likely to continue
3. Coal Reforms 3.0 is in synergy with green hydrogen pilot project

4. Coal Reforms 3.0 will bring down coal imports to zero in the coming two years

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315911
Option 1 ID : 34212361985

Option 2 ID :
Option 31D :
Option 4 ID :

Status :

34212361986
34212361987
34212361988
Answered

Chosen Option : 3




Q.150

Comprehension:

Read the passage and answer the question given below:

National power demand in India has hit 250 Gw, 25 per cent more than last year and 71 per cent
more than in 2022. The power ministry has rightly taken pride in ensuring that thermal power
stations have adequate stocks of coal to keep the lights. fans and air-conditioning on. This has
been a chronic problem in previous summers, leading to prolonged outages. This year, coal stocks
have reached plants well on time. As on June 23, 2024 thermal power plants had 16 days of
stocks as against 9.4 days on June 23, 2022 and 12.7 days on the same day in 2023.

The Government expects to add 15.4 Gw of coal-fired capacity in 2024-25. the highest in 9 years
and 90 Gw by 2032. A programme of “Coal Reforms 3.0” is on the agenda to increase the
availability of coal for industrial sectors, especially steel units, with the broad objective of
reducing imports to zero in the next two financial years.

India has set a target to achieve 50 per cent cumulative installed capacity from non-fossil fuel-
based energy resources by 2030 and has pledged to reduce the emission intensity of its gross
domestic product by 45 per cent by 2030, based on 2005 levels. The installed capacity of non-
fossil power in India is now 45.3 per cent of the total capacity, putting India on track to exceed its
climate-change commitments. But this is illusory progress. The absence of viable storage
technologies has limited grid offtake from renewable sources.

Encouraging industry to continue its dependence on coal is unhelpful. In this respect Coal
Reforms 3.0 appears to be at odds with a scheme announced earlier this year for a pilot project
for given hydrogen to replace coal both as a fuel and as feedstock (which is possible even in steel
produced through the blast furnace route). Given that coal-based thermal plants are responsible
for a disproportionately higher share of emission than the industrial sector, the government may
do well to power India’s economy in the immediate future.

SubQuestion No : 150
How much (approximately) was the national power demand in 2022?

1.200 GW
2.175 GW
3.62.5GW

4. 146 GW

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212315914
Option 1 ID : 34212361997

Option 2 ID :
Option 31D :
Option 4 ID :
: Answered

34212361998
34212361999
34212362000

Chosen Option : 3
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34212315762 2 34212315800 2 34212315839 4 34212315877 3
34212315763 3 34212315801 2 34212315840 1 34212315878 4
34212315764 2 34212315802 1 34212315841 1 34212315879 2
34212315765 2 34212315803 2 34212315842 4 34212315880 1
34212315766 1 34212315804 3 34212315843 2 34212315881 4
34212315767 1 34212315805 4 34212315844 3 34212315882 2
34212315768 3 34212315806 3 34212315845 1 34212315883 3
34212315769 4 34212315808 3 34212315846 4 34212315884 2
34212315770 3 34212315809 4 34212315847 2 34212315885 4
34212315771 1 34212315810 1 34212315848 4 34212315886 4
34212315772 2 34212315811 2 34212315849 1 34212315887 2
34212315773 2 34212315812 3 34212315850 2 34212315888 4
34212315774 3 34212315813 1 34212315851 3 34212315889 1
34212315775 2 34212315814 3 34212315852 2 34212315890 4
34212315776 1 34212315815 3 34212315853 4 34212315891 1
34212315777 3 34212315816 4 34212315854 1 34212315892 4
34212315778 1 34212315817 1 34212315855 2 34212315893 4
34212315779 2 34212315818 3 34212315856 4 34212315894 1
34212315780 1 34212315819 3 34212315857 2 34212315895 1
34212315781 3 34212315820 3 34212315858 4 34212315896 3
34212315782 3 34212315821 3 34212315859 3 34212315897 1
34212315783 2 34212315822 2 34212315860 2 34212315898 4
34212315784 2 34212315823 4 34212315861 3 34212315899 4
34212315785 2 34212315824 3 34212315862 4 34212315900 3
34212315786 2 34212315825 4 34212315863 4 34212315901 1
34212315787 3 34212315826 1 34212315864 2 34212315902 1
34212315788 3 34212315827 2 34212315865 1 34212315904 3
34212315789 1 34212315828 2 34212315866 4 34212315905 4
34212315790 4 34212315829 4 34212315867 2 34212315906 2
34212315791 1 34212315830 4 34212315868 2 34212315907 1
34212315792 4 34212315831 3 34212315869 2 34212315908 3
34212315793 4 34212315832 4 34212315870 3 34212315910 3
34212315794 4 34212315833 3 34212315871 3 34212315911 4
34212315795 3 34212315834 2 34212315872 3 34212315912 2
34212315796 1 34212315835 4 34212315873 1 34212315913 3
34212315797 4 34212315836 1 34212315874 1 34212315914 4
34212315798 2 34212315837 4 34212315875 4

34212315799 2 34212315838 4 34212315876 3
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